[image: image1.png]Section A (40 marks)
Answer all questions in this section. .- -~ - -

1. (a) Nancy is working on the design in Figure 1." She wants to reduce the
design in Figure 1 to obtain the design in Figure 2. However, when
reducing the Figure 1 design, Nancy obtains the Figure 3 design. The

- ¢ circle and the square are separate. Could she hive done’ anything to.
avoid obtaining the Figure 3 design? If : yes, suggest a way to reduce -

the Figure 1 design to obtain the Figure 2 design. If no, explain why
not. |

- O

Figure 1 — Original design Flgure 2~ Expected Q Eigﬁre 3 ~ Design after
design - reduction

(b) Nancy is working on the design in Figure 4 now. She wants to enlarge
the figure to obtain the design in Figure 5 this time. However, she
obtains the Figure 6 design after enlarging the Figure 4 design. The
lines are not smooth enough. Could she have done anything to avoid
obtaining the Figure 6 design? If yes, suggest a way to enlarge the
Figure 4 design to obtain the Figure 5 design. If no, explain why not.

o OO

Figure 4 — Original design Figure 5 — Expected Figure 6 — Design after
: design enlargement

(4 marks)




[image: image2.png]2. John wants to design a database DB to store information about his friends.
Therefore, he designs a database file FRIENDS with the following structure:

FRIENDS
Field Data type | Data length Description
FIRST_NAME | Character 20 Given name
LAST_NAME | Character 20 Surname
HOME TEL Character Home telephone number
SCHOOL_ID | Character A unique school code assigned to
‘ the school where he/she is
studying, if any
EMAIL Character 30 e-mail address, if any
HKID Character 10 | Hong Kong ID card number, if
Jany '
(a) (i) Although HKID is unique to each person, John cannot use it as the

(i)

primary key. Explain why not.

John wants to define a primary key involving FI RS‘T'_'_NAME and
LAST_NAME. Describe the procedure that John should follow.
(iii) Give an example where the primary key in part (a)(ii) may not be

valid.

(5 marks)

(b) John uses another database file SCHOOL in database DB to store the
school codes and school names. The contents of SCHOOL are shown
below.

SCHOOL_ID

081
252
375
441
782
956

SCHOOL_NAME

Eden College :
Hong Kong Number One Primary School
The Hong Kong Government School
Olympian Secondary School

Hong Kong Iciban Secondary School
Intensive Middle School





[image: image3.png]The contents of FRIENDS ‘are shown below.

FIRST NAME LAST NAME HOME_TEL SCHOOL_ID

Amy Chan _ 25258123 252
Johnny - Chan . 25532152 780
Chris Cheung 25787523 441
Mary . Lam 24545510

Paul Ng - 25458648 252
Joe - Yeung 28585656 441

Do the above database files violate the integrity of the database DB? Explain.

(3 marks)

Classify each of the following eight items into one of four categories:
Internet resources, protocol, operating system, or others:

HTTP TCP/IP ISP BBS
HTML UNIX : URL WWwW

(4 marks)

(a) When accessing the web site of the Hong Kong SAR Government,
people can either type in the IP address "202.128.227.5" or the domain
name address "www.info.gov.hk". Explain the relationship between
the IP address and the domain name address. |

(b) Give ONE advantagé of using the domain name address and ONE
advantage of using the IP address.

(4 marks)





[image: image4.png]The Internet Fashion Design (IFD) is a web-based fashion retail company.
It has accumulated a large number of customers during the past two years.
Last month, the whole business of IFD was sold to a property development
company. The development company screens the customers' profiles of IFD
to select likely property-buyers and mails its property catalogue to these
selected customers.

(@) Is it legal for IFD to sell its whole business including its customer
information to another company? Explain your answer.

(b) Is it legal for the development company to ‘use the customer
information of IFD for the screening of’ likely property-buyers?
Explain your answer.

(4 marks)
Mr. Lee is a computer system manager. He is developing an on-line -

transaction system for a toy store which allows customers to buy and pay for
. purchases through the Internet. Briefly describe TWO computer crimes Mr.

- 'Lee might have to deal with and suggest ONE method of preventing each

crime you have identified.

(4 marks)
When Peter visited a web site, he was invited to register on-line as a member.
The data Peter was requested to:provide included six items of data: name,
date of birth, sex, e-mail address, username and password.

(a) For any one of the six items of data, suggest TWO methods of
verification.

(b) For any one of the six items of data, suggest TWO methods of
validation.

(4 marks)





[image: image5.png]Classify each of the following eight items into one of three categories:
computer hardware, system software, or application software.

Internet browser Router Internet search engine
Operating system  RAM Electronic spreadsheet
Utility program Modem
(4 marks)

A.company uses a word processing software to create documents. The
manager wants to standardise the internal memo format so that staff do not
need to edit the layout or style of memos.

(a) Name the feature of the word processing software that can perform the
above task.

(b) Give TWO kinds of page setup and formatting features that the
‘manager may specify.

(c) The manager wants to convert some abbreviations into their long form.
Give a function/feature in the word processing software that can
perform this task.

(4 marks)

END OF SECTION A





[image: image6.png]Section B (60 marks)
Answer all questions in this section.

10. The Wonderful Art Gallery has a small database containing information on
The database consists of two database files,
PAINTER and PICTURE. Links have been made between the two database
files in order to find out who the painter of any particular picture is. The
structure of the database files are as follows:

pictures -and - painters.

PAINTER : : ' ,
Field Data_t.ype Data length Description
PTR_NUM Character 4 ID of the painter
PTR_LNAME Character 15 Surname of the painter
PTR_FNAME Character 15 Given name of the painter
PTR_CID _Character 3 - Country code of the painter
PTR_PHONE Character 12 Telephone number of the painter
PICTURE
Field Data type | Data length Description
PIC NUM Character 10 ID of the picture
PIC_TITLE Character 30 Title of the picture
PIC_PRICE | Numeric 4 Price of the picture
PIC PTR Character 4 The ID of the painter that painted
the picture
PIC_SDATE Date 8 Date the picture is sold
(@ (i) Write SQL/command statement(s) used to list the surname, given
name and telephone number of all the painters in the database with
country code = 086.
(ii) Write SQL/command statement(s) to calculate the total revenue

from pictures sold between 11-Nov-2000 and 22-Feb-2001
inclusive. The results should be displayed on the screen.

(7 marks)






[image: image7.png]- (b) The contents of database files are shown below:

PAINTER
PTR NUM PTR LNAME - PTR FNAME = PTR CID  PTR PHONE
0010 Dai Albert 086 57412584
0032 Hopwood Fanny = = 612 25688592
0132 Qualine Jeffrey 358 91105235
0121 - Ross - Steve 086 - 12563325

PICTURE
PIC_NUM PIC_TITLE PIC_PRICE PIC PTR PIC_SDATE
WT00124557  Water World .. 2620 - 0010 .. <null>
OL01000435 The Old Lady 1983 0032  12-0ct-2000
WT00013423 Dream 2500 0121~ 23-Nov-2000
SK00000114 - Desk Top in a Mess 1422 0121 ~ 15-Dec-2000
SK00100321 Dancer - Fly 3055 0121 ©  <null>
WT00112033. Smell 2330 . 0032  23-Feb-2001

What will be the results when the following SQL/command statements
are executed?
(i) USE PICTURE

COUNT FOR NOT PIC PRICE > 2500 OR

LEFT (PIC_ TITLE 1) = "D" TO M.QUT

S M.OUT. « o

(ii) - SELECT TRIM(PTR_LNAME) + ", " + PTR_FNAME,
~ PIC TITLE, PIC_ PRICE
FROM 'PAINTER, PICTURE
WHERE PTR NUM = PIC PTR
ORDER BY PIC TITLE

(6 marks)





[image: image8.png](c) The Wonderful Art Gallery has several centres and each picture is kept
in one centre only. A database file GALLERY is added to the database.
The structure of GALLERY is as follows:

Field | Datatype - | Data length Description
CTR _CODE - Character 3 - | ID of the gallery centre
CTR_PHONE | Character 8 Telephone number of the
centre
CTR_ADDRESS | Character 50 Address of the centre
CTR_CONTACT | Character 25 Name of the contact person

In order to indicate the contact person in the centre where any picture is
kept, the: Wonderful Art Gallery adds a field, CTR CONTACT, to
" PICTURE. The structure of PICTURE becomes:

Field Data type Data length Description

PIC_NUM Character 10 | ID of the picture
PIC _TITLE - Character 30 Title of the picture
PIC_PRICE  |Numeric | 4 | Price of the picture
PIC PTR Character 4 The ID of the painter that

o painted this picture
PIC_SDATE Date 8 Date the picture is sold
CTR:_CONTACT | Character 25 Name of the contact person in

BRI the centre where this picture
is kept

(i) ~Write SQUcpnjimand statement(s) used to list by centre the names
of the painters who has a picture or pictures priced 2000 or more
in that centre.

(i) The Wonderful Art Gallery may have to update each record in
PICTURE if the contact person in a centre is changed. Suggest a
way to improve the situation by modifying the structure of
PICTURE. Write down the modified structure of PICTURE in
table form.

(7 marks)
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‘The Tin-tin Book Company is a book wholesaler which has Been in business
for over 20 years. During all these years, the company has been running its

daily operations manually, including ordering and delivering books. Each
department uses big filing cabinets to store information about books,
invoices, customer details, etc. Last year, the company purchased several
stand-alone microcomputers and printers for its. various departments to
handle daily transactions. o *

In order to cope with business expansion, the company's management team
has hired a systems consultant to provide professional recommendations to
improve the existing system and to study the feasibility of entering the
overseas market. ‘

(a) The consultant suggests connecting the stand-alone computers into a
local area network (LAN). Describe TWO purposes of a LAN.

(2 marks)

(b) The consultant suggests using a database management system (DBMS)
software package to handle all the data held by the company. Suggest
TWO applications of a DBMS and briefly describe how a DBMS can

- reduce costs and increase productivity. :

(4 marks)
After the company sets up a LAN and begins using a DBMS, the consultant

further suggests developing a web-based retailing application system to
promote and sell books through the Internet.

(c) n addition to the existing computer equipment, suggest TWO essential

pieces of hardware that are needed. Explain. -

(4 marks)

(d) Give TWO possible advantages of doing business through the Internet.

(2 marks)





[image: image10.png]‘(e) Name TWO homepage design features that could attract visitors to
frequently visit a particular web site.

(4 marks)
(f) The Tin-tin Book Company can host web pages in her own web server

or in a third party service provider. Compare the advantages and
disadvantages of these two alternatives.

4 mai'lgs)





[image: image11.png]12. Peter is going to determine the selling price of shirts. He uses the following
spreadsheet to compare the profits for the two different selling prices, $60
and $70.

Unit cost of

n |the n-th.
shirt

1 54 =SUM (B$2:B2) =3D$18-B2
=IF (B2>30,

-2 B2-3, 30) - . |=D2+$D$18-B3

3

4

5

6

7

8

9

10

11

12

13

14

15
Proposed unit selling price: | 60 70

The cost of the first shirt is $54 and the cost of the rest of the shirts varies
according to the formulas in column B. ‘
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(b)

(c)

To calculate the cost of the second shirt, Peter enters =IF (B2>30,
B2-3, 30) in cell B3. He then capies the formula into B4 through

B16 to find the cost of the 37 to- thg 15™ shirts. .

(1) Write the formula stored in B4

(ii) What is the value displayed in B4'? _A
(iii) What is- the minimum unit cost-among different quantities of shirts?

(6 marks)

Peter enters the fdrmula -‘-»SEJM (BS 2:B2 ) into cell C2. He then copies
the formula from C2 into C3 through C16.

(i) What is the value displayed in C3?
(ii) What does the value in C16 represent?

4 marks)

The values 60 and 70 in cell D18, and E18 represent 2 different
proposed selling prices. Peter enters.the formula =$D$18-B2 in D2
and =D2+$D$18-B3 in D3 respectively. He then copies the formula
from 'D3 into D4 through D16. |

O Write the value that would be displayed in cell D3.
(i) What does the value in D16 represent?
(4 marks)





[image: image13.png](d) The values in column D are-calculated with a unit selling price of $60.
Peter wants to see how the values change if the unit selling price is $70.
In order to compare the’ values, he keeps the original values in column
D and calculates the corresponding new values in column E. He copies
the formula from D2 to D16 into E2 to El6 respectlvely

(i) Write the formula that is stored in E2 after Peter makes the copy.

However, Peter does not get the correct values in column E since the
formulas stored there are not as expected. Peter realizes that if he
insists on using the same procedure to complete the calculations, the

two formulas in D2 and D3 must be modiﬁed.\

(ii) Write the formula that should be entered in D2.
(i1i) Write the formula that should be entered in D3.

(6 marks)

END OF PAPER




